

1. [1] 0

2. [1] $14x^{\frac{1}{6}}$

3. [2] If $f(x) = (x - 2)^2$, then

$$\begin{aligned} & \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h} \\ &= \lim_{h \rightarrow 0} \frac{((x+h)-2)^2 - (x-2)^2}{h} \\ &= \lim_{h \rightarrow 0} \frac{x^2 + xh - 2x + xh + h^2 - 2h - 2x - 2h + 4 - (x^2 - 4x + 4)}{h} \\ &= \lim_{h \rightarrow 0} (2x + h - 4) = 2x - 4 \end{aligned}$$

4. [2] $(\frac{1}{125}, \frac{15}{125})$

since $\frac{dy}{dx} = 2x^{-\frac{1}{3}}$, $2x^{-\frac{1}{3}} = 10$ or $x = \frac{1}{125}$

and so $y = y = 3x^{\frac{2}{3}} = 3\left(\frac{1}{125}\right)^{\frac{2}{3}} = \frac{3}{25}$